haas cigisioass:

ZInY ZIHONYS ;

£6°691'¥53'9 sajuapada sosaibuj
96°LZ1'S60' LY 96'2Z1'260°LY E6'VEL'0SY LY 06'922° 1102 £0°896'8EF'FT b
000 00°0 000 000 000 000  sopensq sosaibL]
0E ?uiﬁ °p sopeayep sazaiby]
oo 000 000 000 00’0 000 i fprepsion e
5 X " . ¥ so8a16U] S0.30 A SoIDWIBS
000 000 000 00’0 000 00’0 - a3 00 M o 008
00’0 [lv] 000 co0 000 000 eCjaNposd
000 000 000 00'o 000 000 1205 pepunSes op ssuciouody A smong
opeys3 [op seAr 19p
1=e Yediop 10195 pp & souebiq so;
3p ‘erpne £ oaneisibo] sasmpod $0| 9p S034IGNd ST S0 ap sos2ibu]
wu uuu
. . " 5 SUaIRRGNT A SAUorsURg
000 000 000 000 0o 000 e L moppans
cccalsaLt I S E— ateie — ‘ssuoraTuiedy 9p BSOS SOpUOA A (29814 LgoeigEIND
¥6'658'261'9 90 PEQ'6FE'SE 90°¥EQ'6YE 'BE £L686'¥9L'8E 19'19H'ELE'D Z1L8LLLSI'EE R Mo A s e e o
08'Z50'¥2 08°250'F2 08'250'vZ 00'EE9'9 00'€€9'9 000 sousueyoskdy
82°156'651 20°£01'992 L0°L01'992 8¥'8el 0kl 69'8¢ 6L6¥1'0LL seimantag
¥o'laL'se €O HLL'FOB' L €0 LLL'POR'L 68°£9€'689'L 05'1¥9'6Z- 6E'B00'6LL'L soysarsg
000 000 000 000 000 000 sesnlap 2p SauoKNqUIUDD
000 000 000 000 000 000 [2eg pepunSes op seuoioepody A emong
LZTYL' 6L 00'E9L'6¥9 00'E9L'6¥9 £8'600'6L8 01'585'12¥ €L°020'85¥ sEEanI
soiduniy sof 9p A [RjRIS3 © [R12pa3 CARN33(T 19pod [op sosasby)
(1-5=0) [E] [C] Z+i=0 [E] 0]
opepneasy opeBusasg opsurysy ojuRspURIOuRUL] 2P BUen Jod
ia < & s sosa:by) ap copjTuy opEIsy
osa:bu]
£6'691'759'S S9juapeaxa sosaibu|
96'221°C60' LY 96°LZ1'€60' LY £6'PEL'0SY' LY 069" 1102 €0°BS6'GEY'VT 12304
00:0 000
coo 000 000 000 ao'o oo'o SOJUSILUBI2UBUILY AP SopRALRQ Sosauby)
000 000 000 000 000 000 sauooengnr A sauoisuad
K ‘sauciouaagng & soipisang iorreulisy ¢ L
¥6'558'L61'9 90'¥£9'6¥E'SE 90'¥ED'6¥E'SE €2'BE6'POL'SE L9'19L'EL0'9 TLBLLLSLEE sauoioeyiody op SoJUSIg SoPUOS A (3514 UDIIRIOGRIAD Bf
ap sopeaQ 3 ‘SOILBALDD ' ‘sal o
000 000 000 000 000 000 sosa:fu| sanQ £ soowisg
ap upIESald 'sausig ep eep Jod sosasfy)
08°250'+2 082502 08'250'vC 00°EE9’9 00'EE9'9 000 soRiweyaanosdy
82°156'SS1 L0°£01'992 L0°201'992 s¥sel'oLl 6968 BL6¥L'OLE Sojnpold
¥9°L9L's8 €O LLL'FO8'L €0 LLL'POS'L 69°/0E'689'L 0S°L¥9'62- BE'600BLL'L soysarQg
00’0 000 ooo 000 000 000 seiclop| 9p sauDPNQUIUeD
000 ooa coo 000 000 000 |e0g pepunbag ep ssuoiseuody £ selony
LTTRLIBE 00'€9L'6¥9 00'E9L'6¥3 £8'509'6L8 0158512k £1°020'85¥ seisandu)
Ti-5=0) G [C] Z+1=0) [E1] (3]
opepnesey cpebuersq P osaiby|
eruaseng opRoyIPoON A iy opewilsl ap cugay
Csaibu|
£207 °P 2uqW2420 2P LT [T Q1eUI 9P | °g e
A Y Ee S GUAAV IV G O
OUITVIN 30 VILXVIdYND 30 OidiDINNI /\..m‘q XVIdAdV,1 3
£Z0Z BN BjULn) = 1), W




